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1 次の計算をせよ。 

(1) 2322       (2) 3235   

 

 

(3) 6465       (4) 312   

 

 

(5) 327        (6) 2518   

 

 

 

(7) 188       (8) 22225   

 

 

 

 

(9) 481233      (10) 32748   

 

 

 

 

2 次の計算をせよ。 

(1) 
2

2
18     (2) 63

6

12
    (3) 12

3

1
  

 

 

 

 

 

3 次の計算をせよ。 

(1) 32832850       (2) 
4

45

2

53
20   



【解答】 

1 

(1) 25  

(2) 33  

(3) 6  

(4) 33  

(5) 32  

(6) 28  

(7) 2  

(8) 24  

(9) 39  

(10) 32  

2 

(1) 24  

(2) 6  

(3) 
3

37
 

3 

(1) 27  

(2) 5  

 


